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BEMNEHOHRECF AN EEELTESHEILBLEITFET,
ST RHERAREFECEDE, TRUFORKENEHMERESLETEEFT,

1. REERBEOETEICAWSERHEE
D EEFYEEHE 67,170 H ({E#AHELY)
@ EfEFEYEEEE 56,750 FH ( 2019438 ~ 2019458 OFEHEEEIE)
XM LRIEIFEETYRFMERD160%FTELET (67,170 X 160%=107,470M)

2. RAERESEOERE
FREAHER ZEZE (1I00FRFBETIVIET) = RIRFHREMESE — EEFHREEE
SAORPMEHELTEEE = 56750 — 67,170 = -10420 — -10,400 M

3. KEHSHMABRENETE
AR ZESHEZE100HICDERERESHBEE 1L A A—FIL(M)HT-Y0. 210MHAR=LET,

0. 21 1’50 ~10400 x 108% = -235872 = -2359 FH

4. RBEAMEOETE
HEROELEBMYEFIHENEHMBABEEZMEL THEHEEMELFTT,
FEELERHEICOEELTREEHYFE A,

5 HAsyEMOHER (HEEXETRIART)

FHy R
BRARER EXHEMH) HAEBMHEMA) | ARgsdsEdEm)
AR 0.0~8.0m 918.14 489.89 466.30
Bff 8.1~30.0m 1,350.07 435.89 412.30
CE 30.1milt 3,995.94 347.69 324.10
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BENSEADHREZHAWEEELTEBILBLETET,
ST RNEREFEICEDE, TRARORENEHMEZRAESETREEET,

1. REERAREOETEICAWNSREMESE
D HEFHEEEE 67,170 H ({E#AEKY)
Q@ EEFHEEER 56080 M ( 201948 ~ 2019468 O FEHEEMER)
XD EREIZHEETYEREHD160%ETELET (67,170M X 160%=107,470M)

2. [RFMEREBEORE

FRAHER ZBNZE (100 RFEEIVIET) = RRFHREMEE — EEFHREMEE
SADRIEEESEE = 56080 — 67,170 = -11090 — -11,000

3. KEHTHMPARLENERTE
REHEEZESHZE100HICDEREBRESHBEE 1L A A—FIL(M)HTF=Y0. 210HARL=LET,

0. 21 1’80 11000 x 108% = -249480 = -2495 M

4. SRBBMMEDHETE
HEROEEHMHSINENSHMAREEZMEL TRHENEHEMELES,
EELERMEICOEFELTREEHYEE A,

5 HAsEMOHER (HEFXETHRIART)

FHyEMih
BERARER EAXHEE) HEEHEGHEME) | AEsitssS s
AE 0.0~80m 918.14 489.89 464.94
BE 8.1~30.0m 1,350.07 435.89 41094
CE# 30.1mLlLt 3,995.94 347.69 322.74
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BENSEADHREZHAWEEELTESBILBLETET,
ST.RHNEREFEICEDE, TRARODRENEBEMEZAESETREEET,

1. BHEBRABRBEOETICAWNSERMESE
D HEFHEEEE 67,170 H ({E#AEKY)
Q@ EEFHEEER 53490 F ( 2019458 ~ 20194678 O FEHEEER)
XD EREIZHEETYEREHD160%ETELET (67,170M X 160%=107,470M)

2. [RFMEREBEORE

FRAHER ZBZE (100 RFEEIVIET) = RRFHREMEE — EEFHREMEE
SADRIEEESEE = 53490 — 67,170 = -13680 — -13,600 F

3. KEHTHMPARLENERTE
REHEEZESHZE100HICDEREBRESHBEE 1L A A—FIL(M)HTF=Y0. 210HARL=LET,

0. 21 1’80 ~13600 x 108% = -30.8448 = -3085 M

4. SRBBMMEDHETE
HEROEEHMHSINENSHMAREEZMEL TRHENEHEMELES,
EELERMEICOEFELTREEHYEE A,

5 HAsEMOHER (HEFXETHRIART)

FHyEMih
BEARER EXHEE) REHEGHEM) | AEsitSuS s
AE 0.0~80m 918.14 489.89 459.04
BE 8.1~30.0m 1,350.07 435.89 405.04
CE 30.1mLlLt 3,995.94 347.69 316.84




